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NOTE: SOME THINGS ON THIS SAMPLE EXAM MAY NOT BE RELEVANT TO THE
CURRENT SEMESTER BECAUSE IT MAY NOT HAVE BEEN TAUGHT.

Bio 221 — Concepts of Botany Name:
Dr. Hardy
Exam 3 (Spring 2013)

Instructions:

-PLEASE DO NOT TURN THIS PAGE OVER UNTIL PROF. HARDY HAS
INSTRUCTED YOU TO DO SO.

-Scantron answer bubbles should be completely filled in with a number 2 pencil.

-Please do not turn this page over until Prof. Hardy has instructed you to do so.
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Questions 1-7, refer to the following diagram

P b oabfsig e Prans

1. Number “10” in the diagram above corresponds to a(n)...
a. pistil

b. carpel

c. stigma

2. Number “1” in the diagram above corresponds te a(n)...
a. anther
b. filament

Apistl
e. petal
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3. Number “4” in the diagram above corresponds to a(n)...
a. pistil

b. carpel

d. style

e. ovule

4. Which of the numbers in the above diagram corresponds to a microsporophyll?
b. number 7

¢. number 8

d. number 9

e. number 10

5. Which of the numbers in the above diagram corresponds to a megasporophyll?
a.number 1 __
b number 7.2

¢. number §

¢. number 8§

d. number 9

e number 10"

7. Which of the numbers in the above diagram points to where pollen is made?
a. number 8
b. number 2
<TE umber 3
d. number 4
e. number 10
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8. The two largest groups of angiosperms are the... L
a. Monocots and Cycads A T aimploie 5/ /e
no y ) ATCrm S oAb OF 7%
b. Cycads and Conifers ‘
¢. Ginkgos and Conifers
__d. Budicots and Conifers
& E)Nﬁ(fiicots and Monocots ™
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9. The two largest groups of gymnosperms are the...

a. Monocots and Cycads g ‘ _
(_E___Q);_gggi_iand Conifers ™ /A 716,,@.,,{ < of Hle o f L /Dé Clec

¢. Ginkgos and { Conifers

d. Eudicots and Conifers

e. Budicots and Monocots

10. From which group does rosin and turpentine come from?
a. Monocots

b. Eudicots

¢c. Ginkgos

d. Cyads

:wé"fomfers “‘“‘3

11. From which group do orchids and palms come from?
a. Conifers
b. Eudicots
¢. Ginkgos

o
“‘*“"»m«-n-q-» TR ST—

13. Which group should have the oldest fossil record?
a. Monocots
b. Lycopods
c. Ginkgos
d. Cyads
o6 Liverworts ™
e LAVeIworts
14. Which of the following groups does not have some species with a strobilus?
a. Monocots
b. Lycopods
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15. The plant at left is probably a(n)

o & horsetdil
b. lycopod (lycophyte)
c. whisk-fern
d. pine
€. moss

16. The branching at left is best
described as
a. alternate
b. opposite
Cﬁ%@ﬁ
. dichotomous

e. Spiral

17. Double fertilization is:
a. Found in Gymnosperms, where one sperm fertilizes one egg, and another sperm fertilizes a

second.
b. Found in Angiosperms, where one sperm fertilizes one egg, and another sperm fertilizes a

second.
¢. Found in Gymnosperms, where one sperm fertilizes one egg, and another sperm fuses with
the two polar nuclei of the central cell.
ound in Angiosperms, where one sperm fertilizes one egg, and another sperm fuses with the
/ two polar nuclei of the central cell.
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18. Which is the common name for Coffea arabica?

~coffee™
Tpevote
c. cocaine

d. tobacco
e. caffeine

19. The picture at left is most likely of:
a. a thallose liverwort (Marchantia) with
archegonia.
b. a moss with archegonia.
c. An anther with pollen production underway.
d.e iﬁl@;s with éﬂtﬁé’fiaﬁi.“‘j

e. Ovules and ‘an 6vary:

20, The tissue pictured at left is mostly likely
c‘{hﬁ.m

b. diploid
c. triploid
d. tetraploid
e. pentaploid

s
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21. The plant shown at left is a
a. gametophyte

brsporophyte.™

22. The plant at left is probably a(n)
a. fern
b. club-moss {lycophyte)
¢. monocot
d. cycad
Ce, dicot ™=

23, The branching at left is best described as
a. alela??m‘x
b. trichotomous
¢. dichotomous
d. adventitious
e. whorled

A) cells sub31d1ary cells
B) cells; guard cells- -
CCY pores; guard cells 3

D) pores; sub31d1ary cells
E) pores; trichomes

25. Roots employ amyloplasts to help sense gravity.
1 TTie %} b. False

26. The primary food-conducting cells are -
7] sieve cells or sieve-tube members. j)
B) tracheids and vessel elements.
C) parenchyma cells.
D) sclereids.
E) phloem fibers.
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27. Lenticels function primarily in:
A) water transport.
.-B) gis exchange,..
'C) muneral uptake.
D) protection.

E) hormone production.

28. The O, evolved (given off) in photosynthesis comes from:
a. COz ; .
b “water, ) o 5 het 82

~glucose. '
d. (CH,0).
C. (C3H303).

'/'w.h“ . P
LT

29. In apical dominance, the shoot apical meristem:
(ainhibits the growth of lateral buds.
b. stimulates the growth of lateral buds.
¢. stimulates the upward growth of the stem.
d. s’slmulates the growth of leaves.

d the mltochondnon “‘y ey .m:*‘/ yﬁe‘ D law I },z«j/ ,é‘k’;?e

i !WMWMM"*‘“' - /
31.LA young seedling is able to stand straight-up due to
a.a sohd core of secondary xylem.

gr

&%@Oﬁﬁ
d. both A and C.

e. none of the above.

32. Which of the following statements is NOT consistent with the cohesion-tension theory?
a A gradient in water potential exists between the stem and the root.
oot pressure is essential to the pushing of water from roots to leaves.
¢. Water in the xylem is under tension.
d. A gradient of water potential provides the driving force for the movement of water from
the leaves, plant, and soil.
e. Transpiration brings about a lowered water potential in the leaves.
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33. The plant at left is probably a(n)
a. horsetail
b. club-moss or ground-pine
(Iycopod)
c. whisk-fern
d. pine
€. MOoSS

34. The branching at left is best
described as
a. axillary
b. frichotomous
¢ dichotomogi-=>
“esdadVERitious
e. whorled

35. Many secondary plant compounds are thought to protect plants from herbivores and
insects. An important group of such compounds are the
a. starches.

b. complex sugars.
c. phospholipids.

Al =

e. proteins.

36. Light Reactions ...
a. Make NADPH

b. Fix carbon

¢. Make ATP

37. What pigment makes photosynthesis possible?
a. Eumelanin
b. Pheomelanin
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Questions 38-41, answer what the letters in the figure correspond. Use the following
options.
A. Archegonium  B. Seed coat C. Cotyledon D). Radicle E.Plumule

fi . w:

Z.

@ WP devrradrony T004

40, “X” is the ... ﬁ

41. “Z” is a.... ;‘
e o o oo o o o ok o TR oo oo o oo s oo o Kol ok ok ok o ok s o o e oo e s ok sk sk sl ookl s ok ok sk o o s ok ok o R sk ok ok

42. The three basic types of vegetative organs in plants are
a. Internodes, nodes, leaves
b Teaves, stems, roots.
e rootsTTost A, and chloroplasts
d. dermal tissue, vascular tissue, and ground tissue

43. Plants (Kingdom Plantae) include which of the following?
a. Cyanobacteria, green algae, red-algde, browardlgae, angiosperms, gymnosperms, ferns and
fern allies, bryophytes.
b. greenalgae, red algae, brown-algae, angiosperms, gymnosperms, ferns and fern allies,
bryophytes
c.-angiosperms, gymnosperms, ferns and fern allies, bryophytes, algae
(.;d"."'angiosperms, gymnosperms, ferns and fern allies, mosses, liverworts, hornworts,
e q, obactéria
biosperms, gymnosperms, ferns and fern allies, mosses, liverworts, hornworts

page 11 of 22



é some bryophyte-like lmeage |

This exam is the copyright 2013 and onwards of Christopher R. Hardy, and may not be sold or
redistributed in any manner without his expressed, written consent.

44. The vascular plants originated (evolved) directly from
a. some red algal lineage.

b. some cyanobacterial lineage.

¢. some green algal lineage.
d. _.S0me gymnosperm lineage.

TR

45. The Kingdom Plantae orlglnated (evolved) directly from
a. some red algal lineage.
b. some cyanobacterial lineage.

- some green algal lineage %\g

o

d. some gymnosperm lincage.
e. some bryophyte lineage.

46. The Angiosperms originated (evolved) directly from
a. some red algal lineage.

b. some cyanobacterial lineage.

c. some green algal lineage.

“-=§0me gyrnosperm hneage "y

some bryophyte lineage.

oo o

F&Ffis, angiosperms, Zymnosperms

48. Gemmae of some liverworts are multicellular structures involved in:
protecting the young embryo.
anchoring the plant to the soil.
water and nutrient conduction.
sexual reproduction,

P

xudl T production i

<5 Bla blade de, FoldTast, and sti

e

49. Large kelp bodies are geney y differentiated into three regions:
a._fila filament, gametangla andporangia.

€. P b
C. gametophyte sporoplyte, and gametes. { j”},j £é A[ef%r”" #1 /[
d. Dblade, holdfast, meristem.
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50. The ovary of the flower matures into a(an)
a. carpel.

b. inferior ovary.

c. pollen sac.

4 _

eed.
51. A single carpel that matures into a dry structure that dehisces along two sutures is a ....
a. Capsule

b. Berry
¢. Follic

52. A single carpel-that matures into a dry structure that dehisces along one suture is a ....
a. Capsule

endocarp

- Mesocarn

exocarp seed
{skin)
endocarp endocarp
(pit)
VLB Armstrong 2000
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54. The pair of diagrams below shows...
a. the development of a single simple fruit

(b, the development of a multiple froif ™
c. the development of a compound Truit
d. the development of an aggregate fruit
e. the development of a complex fruit

55.Why are flagellate sperm not generally necessary in seed plants?
“The question is not relevant, since all seed plants have flagellate sperm.
/ ﬁecause sperm do not have to swim through water to reach the egg of the female
iy . . .
gametophyte, rather they are delivered there directly via the pollen.
C. Because sperm must swim to the egg of the female gametophyte.

56. Which of the following group of plants does not have flagellate sperm?
A. Bryophytes
B. Ferns
C. Lycopods
_D. Cycads .

A

{ “E. Angiosperr;{l‘:%
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57

Which of the organisms below is multicellular?

b.

d. All of the above .~ None of the a
!

e i

s
-

s

# . euglenoid

d. dinoflagellate

ftageilum

nucleus

nucleoius

shloroplast -t

comractile vacunta
pellicle
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61. What is shown below?
A. Qogamous sexual reproduction /
B. Asexual reproduction /
C. Isogamous sexual reproduction /
¢D.Conjugation——> /
E. Endosymbiosis

D. Diploid
E. triploid
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63. In the picture below, some of the cells are alrea!t’fly , and others are
becoming . /
A. tetraploid /
B. pentaploid /
C. haploid.. },f’
..—PrDiploid . ‘

“fiploid
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Questions 65-68, identify the part pointed to by each questien, using the following possible

answers:
A.Leaf  B.Bladder C.Stipe D.Holdfast E. Blade.

rizo Litrary % 1957 The Yedrawdils Componies, Ine. Al Aghlare

i
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/
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69. Which best describes the leaf or leaves below?
a.simple b. pinnate c. 2-pinnate (bipinnate)  d. 3-pinnate (tripinnate)
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70. The pictures below depict....
A. aroot cross-section from a dicot (left) and monocot (right).
B. aroot cross-section from a monocot (left) and dicot (right).
C. astem cross-section from a dicot (left) and monocot (right).
D, a leaf cross-section from a monocot (left) and a dicot (right).
B.* aktem cross-section from a monocot (left) and dicot (right).

cortex

cortex

71. Which of the following is not represented below?

. w‘ﬂ"'w * - e
a. prickles b. thorns /= ¢. spines_}
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72. What is(are) the structure(s) labeled by “3” below?
A. Apical meristem

B. Bud primordia._
«—C Teaf primordia__> 2.

D. Stem primordia
E. Adventitious roots

ChH WO M cuzeoon  H H
) 7

74, Which has more caffeine?
A.al oz cup of drip coffee.

< B.alTozcupof SSpresso, Y
C. a I oz cup of Coca-cola.

75. Coffea arabica is native to where?
A. Australia

¢TBUANC
C. Arabia
D. Asia

E. South America
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